

Reappear Grade Sheet of B.Tech. CE 3rd_Semester_December'2019

			FSU	tatistics J012 Hours- 3			CSU	dynamics J001 Hours- 4		Total	Total	Grade
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150175	F	3.00	0.00	0.00		N	.A	3.00	0.00	0.00	
2	150295	D	3.00	4.00	12.00		N	.A	3.00	12.00	4.00	
3	150818		N	.A		С	4.00	5.00	20.00	4.00	20.00	5.00

Note: F grade course to be repeated

			f Material J022 Hours- 4	.S	
Sr. No	Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured



Reappear Grade Sheet of B.Tech. CE 5th_Semester_December'2019

	Reg. No.	Analo		gital Electr 1060 Hours- 4	ronics			echnology J118 Hours- 4				Analysis J121 Hours- 4	Total	Total	Grade	
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150365	C+	4.00	6.00	24.00	D	4.00	4.00	16.00	D	4.00	4.00	16.00	12.00	56.00	4.67
2	150818		N	.A			N.A				4.00	4.00	16.00	4.00	16.00	4.00



Reappear Grade Sheet of B.Tech. CE 6th_Semester_December'2019

	Reg. No.		CSU	hnology J079 Hours- 4		Hydrolog	CSU	gation Eng J135 Hours- 3	gineering		Project CE: Credit I	` '		Total	Total	Grade
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150175	C+	4.00	6.00	24.00		N	.A			N	.A		4.00	24.00	6.00
2	150365	C	4.00	5.00	20.00		N	.A	•		N	N.A		4.00	20.00	5.00
3	150707		N	.A		C	3.00	5.00	15.00	B+	1.00	8.00	8.00	4.00	23.00	5.75
4	150818	C	4.00	5.00	20.00	N.A					N	.A	•	4.00	20.00	5.00



Reappear Grade Sheet of B.Tech. CE 7th_Semester_December'2019

										Desig	n of Rein	forced Co	ncrete											
		Α	Airports and Tunneling				Structural Analysis II				Structures			SPRINT-VII				Internnship\$						
		CSU167				CSU145					CSU080			SP007				CE405						1
	Credit Hours- 3				Credit Hours- 4					Credit Hours- 4			Credit Hrs - 1					Credit 1	Hours- 6		Total	Total	Grade	
Sr. N	o Reg. No.	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150175	D	3.00	4.00	12.00	B+	4.00	8.00	32.00	C	4.00	5.00	20.00	N.A				N.A				11.00	64.00	5.82
2	150707		N	.A			N	.A			N	.A		В	1.00	7.00	7.00	B+	6.00	8.00	48.00	7.00	55.00	7.86
3	150781	N.A				N.A			D	4.00	4.00	16.00	N.A				N.A				4.00	16.00	4.00	
4	150969	N.A			•	N.A			C+	4.00	6.00	24.00	N.A				N	.A		4.00	24.00	6.00		
5	151002	N.A			•		N.A			C	4.00	5.00	20.00	N.A			•		N	.A		4.00	20.00	5.00



Reappear Grade Sheet of B.Tech. CE 8th_Semester_December'2019

	Reg. No.	Env		al Enginee J153 Hours- 4	ering	Indu	strial Wast ESU Credit I	J043	ment	Open ELEctive OE Credit Hours- 3							Total	Grade
Sr. No		Grade Awarded	Earned Credits	Grade Points	Point Secured	Grade Awarded	Earned Credits	Grade Points	Point Secured			Grade Awarded	Earned Credits	Grade Points	Point Secured	Registered Credit	Point Secured	Point Average
1	150365		N	.A	•	F	3.00	0.00	0.00	N.A			N	.A		3.00	0.00	0.00
2	150969	D	4.00	4.00	16.00		N.A		•	N.A	•		N	.A	•	4.00	16.00	4.00
3	1651302033		N	.A	• •		N	.A		Introduction to Taxation and GST	OE050	В	3.00	7.00	21.00	3.00	21.00	7.00
4	151030	N.A N.A						Values & Ethics	OE013	D	3.00	4.00	12.00	3.00	12.00	4.00		

Note: F grade course to be repeated